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Dialogue Listening Exercises

- Dialogue 1
1. Where does Takeshi work now?
2. What difference did Takeshi experience after college life?
3. What were two major complains that Takeshi had about his company?
4. Why did he think that he should work for his current company?
- Dialogue 2
5. How did Sora describe about Takeshi?
6. What did Ken talk about balance between work and private life.



~ZIHITY

A quick review of "verb/adjective stem + & 9 T 9"
- In Ch13, we learned the structure of "STEM + % 3 T ¥ " to indicate "seemingly/it looks

[E7% b

o 0)175@ ;;‘;‘%f 3 T (looks expensive)
- TOARELZZ ST (looks famous)

P LTAIR. O—E— %ﬁf\'&% 9 T, (looks to drink/about to drink)
P LIA, N— 77‘—?;;%’*‘% 9 T, (looks to eat/about to eat)

T LTAR, EKIAREBLZ D TT . (looks to study hard)

”



~ZHITY I
plain form+ ~Z 9 TY
- When ~% 9 T is used with a plain form of verb/adjective, it indicates "hearsay” I've
heard that...
. Like"stem+ ~ % 9 T, ~% I3 T will conjugate like a % -adjective (eg, ¥ ) TT,
ZIL»LWTY, ZH)TLEK)
. ~I2& % ¥ is used to indicate the source of information.

[PLaIN FoRM] | % 5 TT |

) KHLTAR ¥TH  BHEVL Z3TT
() HLTAR VOB TR Z5TY
3) HWFLIAW a—t—% &L Z57TY
(4)

FHLTAR TLE a3 257F




~Z5TT 1

- Note that "stem + ~% 3 T " (it looks...) and "plain form + ~% 3 T " (I've heard...)
often sound very similar (but they mean quite different).

CAREZS5TT SR/ Z5TT
CREOESTY D Z5TT
%25TT CBLESTT
20 Z5TT BT Z5TT
TR Z5TT L 25T

CRAE 25T  WETH ZHTT



plain form + ~ > T

~->7TC|

- ~ - 7 can be used in place of ~% 9 T to indicate "hearsay” I've heard that...
. ~- Tismoreinformalthan ~% 5 T¥

(5)
(6)
(7)
(8)

I LIAE
IFLIAR
IFLIAR
IFLIAR

Ty
WDy
a—kb—%
TL%

PLAIN FORM -

LY
g]ﬁj)\“\{\ (WY
S
LR
R

tz

'R %

> T
- T
- T
> T



. ~- T isalsoused in place of ¥ inthe structure of " that "stem+ ~ Y &> TWFE L "

((someone) said that ...).

AL At
FAF L At

SRR
£ L A

FLE AL
FLE AL

~->7TCIl

PLAIN FORM Y¥orR-> T %—)’(k\i L 7=

Th*

BAE I3 XA
BRI X& 1
T—b—% fhi
a1—kb—% &L
+L% &R
TL% BRG

¥ %\‘—)’(\,‘i L 7=
¢ E-oTWwWF L

%—)Tk‘i L 7=
-7 E-TWwWF L
x EoTvE LA
-7 E-o-TWwWI L




~7=5 |

A quick overview of conditionals in Japanese

- There are several expressions to indicate conditional conditions (i.e,, English if) in
Japanese. All of these conditionals express slightly different conditions.
. ~ ¥:anatural outcome of a condition
. ~I&: a hypothetical condition
. ~7= 5: a one-time condition
. ~7 5: a contextual condition

- In Cha7, we will study ~ 7= 5, which is the most neutral conditional expression in Japanese



~71= 51
~7=5
- "A ~7= 5 B” indicates the event, action, or situation in B is realized if the condition A is
met (cf. If A, then B)
. ~7= 5 isacombination of 7=-form and &

- Although ~ 7= 5 appears to be in the past form (7= -form), the condition can be either
present or past (accidental past event).

CONDITION A 7=-FORM + 5 CONDITION B

(15) ZONEAD Bh-r5  BWIT

16) I—b—%  BRAESD TRIRYET
(17)  FARIC To75 e S

A2 W AtV

(18) FHkIC Fo75 Mg lcANE L



~7=5 1
~ 7= 5 (cont)

- For the negative condition, ~ 7= & is a combination of the plain-past-negative and 5

[ConpITION A ’PLAIN-PAST-NEG ) \ [ ConpITION B]
(19) ZOhEAD B AhoL  BUEHA
(00 1—E—% KREnnors AL KRYET
Q) =7 RFILRIE kst  TLEERNET




~7=5 1V

- ~ 7= 5 does not imply whether the condition A is llkely to happen or not.

Thtw KIEAT Lo v LovA

%ikzofb B A @ﬁé@EHELJ7ZEViT

kst

SNBSS 2 5 %ika%biT
- ~ 7= 5 can also describe a hypothetical condition and its probably result.
 BRRLESfL, T AYIVTRERVET,

wWE K505 B4

S IST RS S —ARERNTVET,



~R L THVWNTT |

~LTHVWNTTY
<~ THWWTT is formed with the negative form without the last character \ + <
THVWWTT.
.~ THWWTT means "does not need to ..." (literary it means It's okay if there is no

)

‘NEGATIVE (w/o &\)‘ \ <TYH LW\’(“T‘
(2) EAE KEL BN (THWNTT
(23) %rzj_étst RECNIVE S SE <THVWTY
(24) ;ém J—E—Q&EQH {THVWTT
(25)

R3] NAELD
25

A= fh38 L A\ {THW\WW\WTT




~% L THNNNTT







~LLTHNNNTT IV

£ DA



~HEWTT |
~HWTT

. "stem + ~% 9 T 9" (it looks..) cannot be used with nouns and some verbs (We cannot

AW

say*FEZHITY)
- For nouns, use ~&7=\>TT to indicate "It looks like .."

Thb

(26) ZOH1=5 Lu\ EElE HH HI-\WTT
(27) %Am?;zt%m%ti :ffafiﬁii Hl-\WTT
(28) =T LT Al RAKEWCE AF-WTT
(29) 7=F LT Al a7 < HI=WNTT



~HT=\WNTT



E¥

~BZ/~TH 5 |

EY S
~HIS/ ~TH 5
EXS

- "ABTIZ B indicates "B before A" Note that the order of events is not intuitive - the main

EX S

clause (B) is taking place before the subordinate clause with BT (A)

EX S

- "A TH 5 B indicates "A and then B” (the backward order of "A BT B”)

EX A
Event A Event B

G0 A-E—EKE  FE X EBRNET
@) BT 3 Hic KEBIA—LLET

Event A (C-form) Event B
(32) I-E—(RAT #5 T-FERNFT
(33) BELT e REBICA—LLET



210

212

AL

SEZCha7 |

»x - »Lni
(field) (to gather)
Ll = )
3 pus % -
(to learn) (to start; to reveal)
216 ~ ~
N »Ln UL VI
E. bBE Al % bhbb BLT
(main; lord) (to express; surface)
pxu oo | »UA
2 e oun
N nn (goods;

(year; age)

refinement)




220

Ly
ko)

(to copy)

»LA
DE

(true; reality)

»C

(character; letter)

£ w4

/

P o

(lively)

222

223

224

PFo I
>ET

(to tie; to join)

5% | G

PIA

(marriage)

L JEJE
>H%

(to walk)

AL

SEZCha7 Il
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This presentation slide was created with BgX and beamer BTgX style.



